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MATHEMATICS QUESTION PAPER WITH ANSWER KEY

Q.
No

Question Answers

Let A be 3 x 3 matrix such that det(A) = 5. If
det(3adj(2Aadj(2A))) = 2*3%5, then (a+B+y) is equal to

2++/3)% 2.18817

3.27

The sum of all rational number in

g r+3 9 = 3 ? |
3 IfthesumE,ﬂ(zr)- C,,-n:-(z :2.81
L =1 11+25+45+....Th 20th I
4 et Sn +3+11+25+45+ en sum upto 20th term equals 3. 7240
to
1.

5 f x*41—x%dx
Evaluate

1 IR
—E(l—:{ )2(3x

A relation R={(x, y): x, y €A ={-3,
-2,-1,0, 1, 2, 3} such that x2 + 2

< 4}. Then, the number of ordered
pairs in relation R be r and

6 2.28
number of ordered pairs required
to add in R so that it become
reflexive relations is m, thenr+m
Is equal to
, 72
s a. 4
8
satisfy is
Let _,I':_g(:}dt =x- j: tg(t)de,x > Oand
dy -
. - —Yytanx = 2(x + 1) secx g(x)

satisfying the condition y{0) = 0. Then

y(3)s
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Let a, b are the roots of the equation x* +
v3x — 16 = 0 and v, & are the roots of
the equation ? +3x=1=0.fQ,=a"+ "V

neNandP,=7"+8" V¥ n e N then the
f'?:i"“ﬁ'@u + (Pn'i’n) is

value o
2023 Py

If y = max{|x|, x, [x-2]}, then the area under the curve from x =2 to

x =4 is (in square units)

Let @ line passing through (4, 1, 3)
~ - S e
intersects the lines [;: — ==~ =— at

(o, B,y)and ,:x-1=y=-z+4at(a, b, c)

63 21 -21
thenfind|a S Y |isequalto
a b c

Let a3, a3, a3 ... be the terms of an increasing G.P. such that as.as =
729 and a; + a5 = 111/4, then 24(a; + a, + as3) is equal to
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1.5

1.15

2.204

2.129



